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QUESTION 1

What is an important simu-lation design consideration? 

A. Ensure model Inputs align with reality 

B. Use different seed values to regenerate results 

C. For rare event models, minimize number of trials 

D. A complex model is better than a simple model 

Correct Answer: A 

 

QUESTION 2

Which metric would be most helpful in identifying a node that may cause network disruption if the node were removed? 

A. Degree 

B. Closeness 

C. Betweenness 

D. PageRank 

Correct Answer: A 

 

QUESTION 3

You are analyzing written transcripts of focus groups conducted on product X. You approach is to use TFIDF for your
analysis. 

What combination of TF-IDF scores should you examine to ensure you only report on the most important terms? 

A. High TF score and high DF score 

B. High TF score and high IDF score 

C. High TF score and low IDF score 

D. Low TF score and low DF score 

Correct Answer: C 

 

QUESTION 4

What are the major components of the YARN architecture? 
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A. ResourceManager and NodeManager 

B. Task Tracker and NameNode 

C. HDFS, Tez, and Spark 

D. Avro, ZooKeeper, and HDFS 

Correct Answer: A 

 

QUESTION 5

Given an input vector of features, a Random Forests model performs a classification task and ends in a tie. How does
the model handle this outcome? 

A. The model will be rebuilt 

B. A winner is chosen at random 

C. The tree that caused the tie is discarded 

D. One more tree is added to the forest 

Correct Answer: B 
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